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1. A chemist must prepare 540 milliliters of a chemical solution. It is to be made up
of 4 parts acid and 5 parts distilled water. If all parts are equal, then how much of
water should be used?

(a) 300 milliliter See Exl: Page 44 s
(b) 240 milliliter .
(c) 340 milliliter let 2 be /A f‘ntfﬂ"!)-e{ 7
(d) 200 milliliter el pollitfert o eali
(e) 320 milliliter /7m~f Hen
Ya + Sz = S4c
‘T = 5_2!_9 = 6o
9
5% amar Oé waler = S %
= 5 ( 60)
- 3eo |

2. The monthly revenue of a certain company is given by R = 800p — Tp?, where p is
the price in dollars of the product the company manufactures. At what price will
the revenue be $10, 000 if the price must be greater than $507

(a) 100 See Q#31, fage <€ i
(b) 150

(c) 75 Q - l'-’-‘,ooo

(d) 95 =

(e) 50 R = eop- 10

)

S Bep-p = leeed
TP~ SeeP-Hoeoe =0
P = teo & 1428
Smee  price [ Greales Lom S
e A i
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3. A company invests a total of $30, 000 of surplus funds at two annual rates of interest:
5% and 62%. It wishes an annual yield of no less than 63%. What is the least amount
of money that the company must invest at the 6%% rate?

(a) at least $25714.29 See @ # 1, P“'ﬂe fﬂ: (correct)

(b) at least $25174.29

(c) at most $25714.29 3 % ( < ) £ 1 7 (30 cet)
=7 Z "" [ ‘BOOCV e 7 - TF <

(d) at least $27541.29 6 b % 7 g

(e) at most $27541.29 w B 2K IR 261

4. Suppose a company offers you a sales position with your choice of two methods of
determining your yearly salary. The first method pays $35,000 plus a bonus of 3%
of your yearly sales. The second method pays a straight 5% commission on your
sales. If the yearly sales is greater than $1,750,000, then which of the following

statements is True?
See LA 1>, [2ge S8

(a) Second method is better because early sales is greater than $1, 750,000 (correct)
(b) First method is better because early sales is greater than $1, 750,000

(c) Both methods are equal

(d) First method is better because yearly sales less than $1, 750, 000

(e) Second method is better because yearly sales less than $1, 750,000

o x > Yeordy Soles
ggboafLBZo:; 4 Sl =

> o Z |7 Seovs
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5. A straight line has slope 3 and y-intercept (0,1). Then which of the following
statement is WRONG.

(a) The point (—2, —1) lies on the line. See Q b, Pnawe 135 (correct)
(b) The point (—1,—2) lies on the line.
(c) The line is perpendicular to the line z + 3y — 6 =0

(d) The line intercepts the z-axis at z = —3

(e) The line is parallel to 3z —y+2 =10

. ) . -3 Cos
PL\,’Y (—-2/-1) wm Eoy (L B e

- wnox +C

=1 2 A1+

i W: 32¢ + | ,,._®

1 F -5
B £ -t=t2 Aee/Smp‘Af_

L‘eg on e Qoo -

6. The average daily cost, C, for a room at a city hospital has risen by $59.82 per year
for the years 1990 through 2000. If the average cost in 1996 was $1128.50, what is
an equation which describes the average cost during this decade, as a function of
the number of years, T, since 19907

(a) C = 59.82T + 769.58 See QHN, nge 138" (correct)
(b) C = 769.58T + 59.82
(c) T = 59.82C + 769.58

(d) T = 769.58C + 59.82 oz SY- <>
(e) C =59.82T +1128.5
(¢ 112852)

c - $4-82(T-€) pr2g-C
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7. In 2008, the stock in a computer hardware company traded for $37 per share. How-
ever, the company was in trouble and the stock price dropped steadily, to $8 per
share in 2018. Then which of the following statement is TRUE?

See ©2 €3, fge H 138

a) The stock price dropped an average of $2.90 per year (correct)

(
(b) The stock price dropped an average of $3.90 per year

)

)

(c) The stock price increased an average of $2.90 per year.

(d) The stock price increased an average of $3.90 per year.
)

(e) The stock price remains constant an average of $2.90 per year.
()—008/ 2P (}al&) 8)
m =z —2-9

Se  Steclk Price (,\nﬂpcc} o AveVeGe

8. Which of the following lines are perpendicular
L:y=3 > kerigm[;& ,&(‘r-—e. ] o
b:2= —% Vertice) Kwne lhese ave ID&(fMW
l3:3z+y=4 :
by:x+6y=4

(a) ¢, and ¢ '5‘&6 Q# (t 2 ’Pf"-%ef ‘7? /3?correct)
(b) £ and /3
(c) €3 and ¢4
(d) £, and ¢4
(e) ¢ and £4
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9. Suppose consumers will demand 40 units of a product when the price is $12.75 per
unit and 25 units when the price is $18.75 each. When 37 units are demanded, and
assuming that the demand equation is linear, then price per unit is

(a) $13.95 566 0 # /g) Foﬁe ‘#} ”{0 (correct)
(b) $13.00 . o

(c) $14.95 Qiver. tro? Go , (2-F3 )

(d) $15.95 ds, ) 8- 79)

() $12.95

we memd to Fud 0 e f=3%F
Use e Coneept § Equalies 0}

e ey Tomgle b p

Pz 2o.4% #3875

Pz —o-y (> £28-7% = 1398

10. A house purchased for $255,000 is expected to double in value in 15 years. Then a
linear equation that describes the house’s value after ¢ years is

(a) 17000¢ + 255000 Cee D# 2¢, ,Pa,af H (%6 (o)
(b) 15000¢ + 255000

(c) 255000¢ + 17000

(d) 15¢ + 255000

(e) 255t + 155000 " " = (Jeeo
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11. What are the vertex and axis of symmetry of the parabola y = —z% + 6z + 37

(a) vertex is (3,12); axis of symmetry is z = 3 See Fx 2 ?ﬂﬂe /q(grrect)
(b) vertex is (12, 3); axis of symmetry is z = 3
(c) vertex is (3,12); axis of symmetry is y =3
(d) vertex is (12, 3); axis of symmetry is y =3

y

/!\ (e) vertex is (—3,12); axis of symmetry is ¢ = —3 L
1 (3, ) i e
S T e
' {

B e = 2l

/ ) :[:3\ 20D 7

-- - Corelinte (3" +4[3 )+ 3
Lo
[ 215,

12. The demand function for an appliance company’s line of washing machines is
p = 300 — 5q, where p is the price (in dollars) per unit when ¢ units are demanded
(per week) by consumers. Find the level of production that will maximize the
manufacturer’s total revenue, and determine this revenue.

(a) 30units; $4500 maximum revenue See QB 3o, Pﬁﬂﬂ 197 (correct)
(b) 30 units; $5500 maximum revenue
(c) 35units; $4500 maximum revenue
(d) 25 units; $4500 maximum revenue gz F!)/
(e) 40 units; $6500 maximum revenue
- (3;"’9 & gaV) 9/

q o ~SY 430

S —

amAtama TN af§=T
s (300)

2
: 2
MOA . YeverTwL n of = =S (30) +30¢(3)

= o0
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13. Given the system of linear equations

2z —y=1
-z + ky=c

where k and c are real constants. Which of the following statements is True?

See BEx 3, page /52

1
(a) For k = %, R system has infinitely many solutions (correct)
1
(b) For k = 5 €= —%, system has no solutions
1
(c) For k = g0 —%, system has unique solutions
1

(d) For k # 5 € o —%, system has infinitely many solutions

1
(e) For k # = ¢ # —=, system has no solutions

S%ﬁm»nu,hwfm#mah B =c>

w
mamy G funli AlFr ™Y
L
12U =0 a~d t2C=0 ,..na,r?,k»d = L3
-\ e _"
14. The value of k, where the following system
3z +2y =2
2z — ky =0,
has no solution is
(a) _g 5&6 EJC. 2 ,pq-‘gh AT (correct)
(0
3 ef«ew&tw«&/ X w te 31»«/:
0 ST
oo s

() —
S“ESW lws o Solukan |

So

Q(J'I’l‘d) .

bigsw =0 e T
LL’;"L\/Z [104’3""0
(L,-FB‘*‘-)L/O' 7
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15. The number of solutions of the system

16.

$2+y2=7 -5 = 'S
$2—y2=1, e 7(,1': l_‘_\,a P"U’— wo é)v‘d)
2 5
is . i
L‘a il

(a) Four a': TV8  See CH Bl , ’pa_a&,ﬂ (o

(b) Three
(c) Two }w'atl\)-g Ff/ LO:”$3

i Wae o ¢ l+‘0§ 1oz i

(e) No solution

(correct)

AT, Horr Ao, Ly
(1) 3z ) (*-1-, \F}) (’L)-—\‘%)
(> -

If one solution of the following systemisz =1,y =1

2-
m—y2=0 — %"7—‘6
3z+2y—5=0,

Then the other solution is

(a) z=

See RA S, Page l4s

(correct)

>4 <>g - S =

25 5
V=3
®) o= y=—3
©z=2y=—1
2 2
dz=1y=-1 3“07/-#(‘6"383—;;%
(¢) z=0,9y=0
439+) ~1 (3g15) =0
4733, |

x - 2%
ﬂ
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17. Letp = l—gaq—l—SO be the supply equation for a manufacturer’s product, and suppose

7
the demand equation is p = ~100Y + 65. Determine how the original equilibrium

price will be affected if the company is given a government subsidy of $0.75 per unit.

See Q#23, Prge # (67

(a) the original equilibrium price decreases by $0.35 (correct)
(b) the original equilibrium price decreases by $0.70
(c¢) the original equilibrium price decreases by $0.30
(d) the original equilibrium price increases by $0.35

(e) the original equilibrium price increases by $0.70

Be fer Subsialy, Frd mgpm/ Cgualibtr Pric
o
f drbd TS
Aty Gubedy
AT e TR =
%oﬁssr- L

L —

18. The solution of the following system

z4+y+72=0
z—y—2=0
2c —3y—62=0 Pz S 65
3r+y+132=0 s
- |©)
is —
P{ic_e olecvedses %30“3‘3
(a =-3r,y=-4r,z=r (correct)

See § K22, page 277

dz=-3r,y=r,z2=—4r
(€ z=3r,y=4r,z=r
5 R Rioo 1 b |
| | 3 Ra- 1R, R R -1 R
S SR Ry -3R) £ —;ﬁf_;
n Agn = | T n el A RN
= — 8 *
B R .5 \ 3 LaYe
37 T 2
"’_9 © o O ‘a’;".u.(
© © o rx_——;.-’b“/
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19. The shaded region represents the feasible region in the following diagram is

described by M See —Q H 2—5) R«.ﬁe = 2945 .

(a) y<6, z+y—22>0, 3z—-2y+12<0 (correct)
(b) <6, 3z+5y—4>0, 42—-2y+9<0

(c)y<6, dz+4y—-y>0, z—y+220

(d) y<6, 3z+2y—8<0, 2z—4y+5>0

(e) y<6, 4z4+5y—5<0, z—2y+8>0

20. Let = A and y = B be the numbers of units of two different car models, and
consider the following linear programming model:

Maximize P = Tz + 2y subject to

[22>0
y=>0
2z +y < 80
3z +y <50
| 52 +y <70, ThenA+ B =

See Q #13 pogye A 306

(a.) 30 (correct)
(b) 40 Xz a0y B 1D

(c) 20

(d) 50 A¥B =deo
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